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Omar and Ella were selling raffle tickets. :
Omar sold 3450 tickets and Ella sold 1286 fewer tickets

- than Omar.
a How many tickets did Ella sell?

b How many tickets did they sell altogether?
3450 tickets
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Ella |
1286 tickets

a 3450-1286 =214
Ella sold 2164 raffle tickets,.

b 3450 + 2164 = 56,




A bar model

A bar model is a diagram to support our understanding
of whether to add/subtract/multiply or divide for word

problems. It allows us to visually see the parts or the
whole of a number sentence.




Use the bar
model to solve
this:

o

A computer costs £q5
The computer costs £250 less t

How much do both items cost remie television.

altogether?

Find out the ,,tqst'of |
the television first!
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computer |
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The television costs £

?




Now let’s continue with our
word problems within 10 000

Q) There are 460 men, 352 women and 164 children at g
fireworks display.

How many more adults than children are at the fireworks display?
a 188 460 352
b 296 adults

648
(6 A farmer sells 869 eggs on Monday. ; g R j
He sells 587 more eggs on Tuesday
than on Monday.

?
How many eggs does he sell on Tuesday? There are 2065 girls and 2349 boys at a concert.
al = Ped b 322 1890 of the children have brown hair.
c 1346 d 1456 How many of them do not have brown hair?
a 1606 1890

b 252 have
brown hair
¢ 3955

2065 + 2349

- do not have

(7 Kerry saves £2980. d 4414 brown hair l |
Ravi saves £345 less than Kerry. ?
How much money does Ravi save?

?
Marks out of 20 @
3 Eizig : Section B (10 x 2 = 20 marks)

b
€  £2645
d £3325

164

Write the correct answer in the space.
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'8 Miya has 1234 photos in her album.
Jack has 345 fewer photos in his album

Miya
How many photos do they have q|
LR y altogether? i

b 1234

@ What must be added to 2854 to get 4000?




